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o I[FIREES WKV-X 69 - 975 o EAME T-14
o BT 695 x L x75 o EFENS 600 mm
o EAME  {EM o 715 13- WKI-T5x9x7. 5
* HE o R7 1) VHIN—
+ & i — i o 2 P = 56 kN -EvTF P = 38 mm
- BEREH i= 0 - BEESE 2 = 6169 mn’
- HEEEBELFE P, = 56.0 kN
- BHEiEEE axb =200 mm x 500 mm
ALl Q= 595 mm
CRTYLGA—FAFEE 4 = 500 mm
| E i E
- RFYVUTN——KEBMB L LTHET S,
- SRS g, = 0.180 kN/mm2

W
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e HiFE—AT K N

Py
W =H= 0.021 kN/mm
N =%xw x 0 x (20— 81 ) (0> 00 0,=0)
=%x0_021 x 500 x ( 2 x 595 — 500 )
= 917.7 kN-mm
o H1: O
o =%=%# 0.15 kN/m2< ab
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